HI>AKA

Your Auromation Solutions Provider

D2 [ 12 ST IE R
Ball Screw Brackets




HISAKA HISAKA

Your Automation Solutions Provider Your Automation Solutions Provider

U drillg ¥ comter bore depeh 1 M B, /\DT 0 \4)0(51?15) L,
) T %\
C ﬁx/ } 2 hhlﬁm — B,
&}j R4 R 2 S
T o RS \ 1K drill
[ — e EN

EK06~EK08
b
(L) L
M drill LA 2006 B
s PR BN H= = T |
Maodel No. Part name Qty @ @
| HIREEAYR Housing 1 ﬁm I —
E 2 7% /Bearing 148 /1 set N &% : :// - ”7,;7—7*3””””/7/" E
-3 3 JE#R Holding lid 1 = & &) | YA =S g
i2 4 |BIVBEE /Collar 2 B A 8 1 BRI B
E L L L L ﬂ
% 5 ShEt /Seal 12) b L ! -2
= 6 SABEZIE /Lock nut 1 ! : N g
2 PRI BT A | b B
7 Hexagon socket-head 2 \ ,m /
Setscrew(with set piece) EK10~EK20 \ ;
= —+
= /
o EKO5-Ek08 C7 fFEMH 6 ki, HmFRERE, o0 Using deep groove ball bearings for EKO5 to EK08 C7 types Support = /
[EE29 0.03mm. ( AT &S AR AR ) Units,Which only be applied to light load,and Max.axial clearance is around ‘ ‘ L
o EK10-EK20 C7 M 7 FMREIMELE, 0.03mm. i i
@ e KIERR 0.018mm o Using angular contact ball bearings without preload for EK10 to EK20 C7 e e =
o C5 REAZHEZTELIE, HhiE 0 (5 types Support Units,and Max.axial clearance is 0.018mm. I\/Io:Ei:eﬁ\lo. ngt”rfmﬁ;
e 7 —_ E . . . .
o HRERBHRSREA o Bearings make Preload for C5 type suppprt units,and Axial clearance is Omm. L i SRR A /Housing 1
O All of bearings use Japan's brand bearings. 2 47% /Bearing 148 /1 set
3 C BY0FR /Snap ring 1
: L L1 12 L3 H B1 H1 X Y VA M T
Model No. | Shaftd terd +0.02 | +=0.02 P
aft diameter me iz | Wl bl e | x|y | 7 || R CENF
EK05 5 165 55 185 35 3 21 18 11 20 8 28 45 - - M3 Model No. | Shaft diameter d +0.02 | =0.02 Bearing Snap ring
EK06 6 20 515 22 315 42 28 21 13 18 20 30 515 915 " M3 12 EF06 12 42 28 21 13 18 20 30 55 915 " 60627 S 06
EKO08 8 23 7 26 4 5 32 26 17 25 26 38 6.8 " 12 M3 14 EF08 6 14 52 32 26 17 25 26 38 6.6 " 12 60627 S 06
EK10 10 24 6 295 6 70 43 35 25 36 24 52 9 - = M3 16 EF10 8 20 70 43 35 8 36 24 52 9 - - 60827 S08
EK12 12 24 6 295 6 70 43 35 25 36 24 52 9 - - M4 19 EF12 10 20 70 43 35 25 36 24 52 9 - - 600027 S10
EK15 15 25 6 36 5 80 49 40 30 41 25 60 " - S M4 22 EF15 15 20 80 49 40 30 41 25 60 9 - - 600227 S 15

EK20 20 42 10 50 10 9 58 475 30 56 25 75 1" - - M4 30 EF20 20 26 95 58 47.5 30 56 25 75 1" - - 620477 S20




HISAKA HISAKA

Your Automation Solutions Provider

2-x drill ¢ Ycounter bore depth Z

Your Automation Solutions Provider

> BF

2-x drill¢Yeounter bore depth Z B,

\ : 4-¢d2
|
——
LF jJ
== :E‘ ) [=S] ml *1 ‘:}r - 4
R
= | = e b
[
[yl
p Lo
B ‘
L) L |
UHORN6
s R e AN 520
Model No. Part name Qty T T\‘
1 B EEAA /Housing 1 - R
E 2 7% /Bearing 148 /1 set = \. ﬁ ) E
- 3 JEAR Holding lid 1 . mﬂ T I , -
= . 0 =] 1 - — =
& 4 i8]p= R /Collar 2 < T T = I ‘3
- 5 S5t Sl 10) Dganmmnt O 3
= 6 SHEH208 /Lock nut 1 ol 1k g
7 Hexagon socket-head 2 L L T Model No. Part name Qty
Setscrew(with set piece) 1 1 S AREEAA Housing 1
L 2 7% /Bearing 148 /1 set
o C7HRfEFRZ 7 FRHEALINELIE, HE&EAER 0.018mm o Using angular contact ball bearings without preload for C7 3 C B3R /Snap ring 1

o Cb REMZHFAZTUELIE, a0 (&
o HUKEXRRHZRmMMEA

types Support Units,and Max.axial clearance is 0.018mm.

o ZUEAZMARATHRE
o WHIRERAZMIFRRANENRE
o MUKERFHZRMEA

o Bearings make Preload for C5 type support units,and Axial o Itis used double pressed steel cages for Black Oxide type support units.

clearance is Omm. o lItis used double plastic cages for Electroless Nickel Plating type support units.

o All of bearings use Japan's brand bearings. o All of bearings use Japan's brand bearings.

o L0280 8 L 910 €20 e v e soifara | L0 L Ll 90 vz SRR PRGED
BK10 10 2 | B | 728 | & | GO | &Y | 30 22 34 325 15 46 13 6 55 66 108 5 M3 16 BF10 8 20 60 39 30 22 34 325 15 46 55 66 108 5 60827 S08
BK12 12 25 5 29 5 60 43 30 25 34 325 18 46 13 6 55 66 108 15 M4 19 BF12 10 20 60 43 30 25 34 325 18 46 55 66 108 15 600022 S10
BK15 15 27 6 32 6 70 48 35 28 40 38 18 54 15 6 55 66 11 65 M4 22 BF15 15 20 70 48 35 28 40 38 18 54 55 66 11 65 600222 S15
BK17 17 3% 9 44 7 8 64 43 39 50 5 28 68 19 8 66 9 14 85 M4 24 BF17 17 23 86 64 43 39 50 5 28 68 66 9 14 85 620322 S17
BK20 20 3 8 43 8 83 60 44 34 52 50 22 70 19 8 66 9 14 85 M4 30 BF20 20 26 88 60 4 34 52 50 22 70 66 9 14 85 600422 S 08
BK25 25 42 12 54 9 106 80 53 48 64 70 33 8 22 10 9 11 17 11 M5 35 BF25 25 30 106 80 53 48 64 70 33 8 9 11 17 N 620527 S25
BK30 30 45 14 61 9 128 89 64 51 76 78 33 102 23 11 11 14 20 13 M6 40 BF30 30 32 128 89 64 51 76 78 33 102 11 14 20 13 620627 S30
BK35 35 50 14 67 12 140 96 70 52 88 79 3 114 26 12 11 14 20 13 M8 50 BF35 35 32 140 96 70 52 88 79 3% 114 11 14 20 13 620727 S35
BK40 40 61 18 76 15 160 110 80 60 100 90 37 130 33 14 14 18 26 175 M8 50 BF40 40 37 160 110 80 60 100 9 37 130 14 18 26 175 6208727 S40




HISAKA HISAKA

Your Automation Solutions Provider Your Automation Solutions Provider

> FK

Cllis

4-Xdrill ¢ ¢ Ycounter depthZ

4=Xdrill¢ ¢ Ycounter depthZ

FK10~FK30
s EBEREIR H= B
Model No. Part name Qty ; .
1 7R EEZYK Housing 1 ]
2 7% /Bearing 148 /1 set ;%
3 FEAR Holding lid i szr / hF
- e B e
4 [8]fBE /Collar 2 X@X ] / —
5 S5 /Seal 2 o/ E A
6 BIEENE /Lock nut 128 /1 set L Pl il or ‘ @l ‘
. PRI BT / . : : s i
i Hexagon socket-head Setscrew(with set piece) REETE A U T % B == = 12
H: Mounting method A Mounting method B ‘ H ‘ HE
- ik E RESEA | RESEB o iy EBTREIR HE —
[ 7 L H F E A | PDC X Y z M T Model No. Part name Qty 4
o Model No. | Shaft diameter d H
2 0.007 . 1 EH7REEAA /Housing 1 g
e FK04 4 5 6 9 175 2% 3 24 25 5 3 34 5 34 65 4 M3 i ) 2 815 /Bearing 1 481 set i
= 0.00 3 JE#R /Molding lid 1 EE
FKOS 5 165 6 105 185 200 34 2 2 55 35 7 5 34 65 4 M3 I
: L | H|F A | PDC X | v | z . a
FKO 6 20 7 138 2 wyY 3% 28 28 55 35 85 65 34 65 4 M3 12 Model No. | Shat diameter d Bearing Snap fing
. FF0B 6 0 6 4 2730 36 28 28 34 65 4  B06ZZ S 06
FKO8 8 22 9 14 2 B9 43 3 3 7 4 10 7 34 65 4 M 14 '
o FF10 8 12 7 5 2 00 43 3 35 34 65 4  608ZZ S 08
FK10 10 27 10 17 205 )N 52 42 42 75 5 85 6 45 8 4 M3 16 '
0009 FF12 10 5 7 8 34 0009 52 42 42 45 8 4 6000ZZ $10
FK12 12 2710 17 295 3%, 54 44 4 75 5 85 6 45 8 4 M4 19 007
-0.009
_ FF1 15 17 9 8 4 5 95 5
FK15 15 32 15 17 3% 4,09 63 5 52 10 6 12 8 55 95 6 Mi 22 : 0025 B |l BE A B S8 G o1
0009 FF17 17 0 119 50 009 77 62 61 66 11 65 62032 $17
FK17 17 45 2 23 47 S0P 77 62 81 1 9 14 12 66 11 10 M4 24 0025 : :
-0.010
FK20 20 52 22 30 50 5,00 8 70 68 8 10 12 14 66 11 10 M 30 = = v e > 0029 CHEIECEE N RN R 520
d -0.010
FK25 25 57 27 30 60 3,07 9% 8 79 13 10 20 17 9 15 13 M5 35 FF25 25 241410 63 5 029 %8 80 79 9 14 85 6205 $25
FK30 30 62 30 32 61 00 117 % @ 11 12 17 18 11 175 15 M§ 40 FF30 30 27 18 9 75 o0 M7 95 93 11 17 11 620622 $ 30




HISAKA HISAKA

Your Automation Solutions Provider Your Automation Solutions Provider

2-x drill ¢ Ycounter bore depth Z B,

) 2-x drill ¢ Yeounter bore depth Z B,
} 4-¢d2
\ |
| | i
L) 1L i i
0006 ’
N\ \ g
_] - c )
- 1
12 — 12
- B ] -
% T ® 00 %
< & \Y
- 1 =
¥ Lo R =
B B2
AK10~AK15 \i ;:iii:
(L) L 6] I
B SBRETR HE R
Model No. Part name Qty [l
1 ER7REEZR YK Housing 1 I v ;
2 7% /Bearing 146 /1 set L e /
3 JEAR /Holding lid 1 ©® W / :
a5z /Col 2 o A ]
Y /oea Model No. Part name Qty
. i, ¢, |G,
6 PE920E /Lock nut 148 /1 set 1 HHAEEZAAR /Housing 1
: PRI B ) n ! 2 7 e 18

Hexagon socket-head Setscrew(with set piece) AK20 JE#R /Holding lid

3
B= S b h B S b h fEEFRE | R C BUHIER
Model No. | Shaft diameterd | - | Y1 | 12 | 13 Y aiog | =gz || BN NI FEL N O e Model No. | Shaft diameterd | - H igp2 | +opz B1 | HUE 2| X | Y 1 Z B Tpaaring Snap ring
10 2% 6 6 70 43 35 25 36 35 19 52 66 9 14 M3 16 15 - - 8 20 70 4 3 25 36 35 19 52 66 9 14 11 15

AK10 29.5 11 AF10 60827 S08
AK12 12 24 6 295 6 70 43 35 25 36 3 19 52 66 9 14 11 M4 19 15 - - AF12 10 20 70 43 89 25 36 3 19 52 66 9 14 11 15  6000ZZ S10
AK15 15 25 6 36 5 80 49 40 30 4 40 19 60 66 11 17 15 M4 22 15 - - AF15 15 20 80 49 40 30 4 40 19 60 66 9 14 11 15 600222 S5

AK20 20 42 10 50 10 95 58 475 30 56 45 19 75 66 11 17 15 M4 30 15 22 10 AF20 20 26 95 58 475 30 56 45 19 75 66 11 17 15 15 62042 S20




HISAKA HISAKA

Your Automation Solutions Provider Your Automation Solutions Provider

inl ?e’ce 4e\':\g<;w;\ /mﬁel{:fﬁi?suswn H
; L
| B -0k
= 4-9Y
— = aaL
= @ - d = L
- | N o
L X
AI 7Ll7 N
il = - TH R O
: s Ty 2 SN [ H
Model No. Part name Qty N /s
6 SHEIRIE /Lock nut 1 48/1 set 5 =
PI7NAB AR E ST / i L .
7 Hexagon socket-head Setscrew(with set 2 N %l T\rﬁﬁ
piece) AN
[
Lk
ma _ . m‘?
# M HR AL A2 e
- RNO5 5 125 27 M3%05 11 M5%05 Hexagon socket-head Setscrew e
12 RNO5-N 5 125 2.7 M3x0.5 1 M5x0.5 4N 12
15 53
b.a RNOG 5 13.5 2.7 M3x0.5 12 M6 x0.75 -a
E RNOB-N 5 135 2.7 M3x0.5 12 M6x%0.75 E
RNO8 6.5 16 4 M3x0.5 14 M8x%1.0
B= BB AR H=
RN10 8 19 515 M3x0.5 16 M10x 1.0
O . . " ~ 6 SAEH20E /Lock nut 1 £H /1 set
10- 8 19 515 3%0.5 16 10x1.0 LB (4 /
RN12 8 22 5.5 M4 0.7 19 M12x1.0 7 Hexagon socket-head Setscrew(with set 2
RN12-N 8 22 55 M4 0.7 19 M12x1.0 piece)
RN15 8 25 4.75 M4 x0.7 22 M15x%1.0 Gil=] | : A | v - . RE
RN15-N 8 25 4.75 M4 x0.7 22 M15x1.0 Model No. SPANNER
RN17 13 29 9 M4 24 M17x1.0 RN17 18 10 37 M6 43 4 27 M17%1.0 /1020
RN17-N 13 29 9 M4 24 M17x1.0 RN17-N 18 10 37 M6 43 4 27 M17x%1.0 /1020
RN20 1" 35 7 M4 30 M20x1.0 RN20 18 10 40 M6 43 4 30 M20x%1.0 /1020
RN20-N 1" 35 7 M4 30 M20x1.0 RN20-N 18 10 40 M6 4.3 4 30 M20x1.0 71020
RN25 (5 43 10 M6 35 M25x 1.5 RN25 20 11 45 M6 4.3 4 30 M25x%1.5 /1025
RN25-N 15 43 10 M6 35 M25x1.5 RN25-N 20 " 45 M6 4.3 4 30 M25x%1.5 71025
RN30 20 48 14 M6 40 M30x1.5 RN30 20 11 50 M6 4.3 9 40 M30x 1.5 /1035
RN30-N 20 48 14 M6 40 M30x1.5 RN30-N 20 " 50 M6 4.3 5 40 M30x 1.5 71035
RN35 21 60 14 M6 50 M35x 1.5 RN35 22 12 56 M6 4.3 9 45 M35x 1.5 71035
RN35-N 21 60 14 M6 50 M35x1.5 RN35-N 22 12 59 M6 4.3 5 45 M35x 1.5 71035
RN40 25 62 18 M6 50 M40x 1.5 RN40 22 12 60 M6 4.3 5 50 M40x 1.5 71040
RN40-N 8 62 18 M6 50 M40x 1.5 RN40-N 22 12 60 M6 43 5 50 M40x 1.5 71040




HISAKA HISAKA

Your Automation Solutions Provider Your Automation Solutions Provider

>m

Gl ——

82 2
#F F
: B L :
é B, J c C1 . }ig
EE IR = EE
o/ | 3 % . < e
o~ %\ — B 71
a fom i
-® Ry i
=
n-m D, BB1

IR TR IREFRE SERS

S ERRTVE| Rexroth
sslannoopnnEannnnonannn

MGD12 R1506 00050 244 35 50 32 M4 8 6 BB2 18 36 35 16 11 M6 10 52 95 27
20 7 40 16 10 5 10

L “n 6 BB2 24 48 50 20 20 M10 15 84 14 37
MC1004 26.4 32 48 36 4 4 60 32.5 MGD20 DIN R1506 20050 36.4 55 75 47 M6 11 6 BB2 28 5 55 23 22 MI10 15 84 14 45
MC1205 30.4 36 60 40 4 4 60 21 37 7 47 24 6 6 12 MGD25 69051 R1506 30050 40.4 55 80 51 M6 11 6 BB2 30 60 60 23 22 M10 15 84 14 49
MC1408 34.4 38 60 45 5 4 60 215 37 7 50 20 10 6 12 MGD32 Farts R1506 40050 50.4 70 100 65 M8 14 6 BB2 35 70 75 30 27 M16 20 13 20 52
MC2010 46.4 50 86 59 6 4 60 31 54 10 70 30 10 10 20 MGD40 R1506 50050 63.4 80 120 78 M8 17 8 BB1 42 84 90 35 31 M18 25 15 23 66
MC20120 39.4 40 86 59 6 4 60 28 51 10 70 24 8 10 20 MGD50 175 754 95 140 93 M19 17 8 BB1 48 96 110 45 34 M20 30 17 26 75




HISAKA HISAKA

Your Automation Solutions Provider Your Automation Solutions Provider

M
D, 1-1x | X |
mg | | | | \‘ ‘\ ;‘ | ‘; J— 0.04 A '_: m‘g
i Pl L |0 e S 5 #
B = | = T PO = B
¥ == | e HEEEEE = ¥
ig AR AR RN g
3 f®\ S Ll EE
| e | ‘ : BREE==a
I Y ‘ I [ ey e
B, ¢
B L N L
L

JRE R~

E%F:E AR ~
o Lo o [ [l e s [ ] o
78 70 30 20 M16 25 14 22 62

L]
=
sl I E IR RN
M5 10 6 39

L
NH32A  48.4 64 g5 60.5

7 NH32B | 54.4 84 110 70 M8 16 6 46 92 82 50 20 M16 25 14 22 76

ﬂ%.;g %ﬁfﬁa? NH32C 584 64 105 71 M6 12 6 43 86 78 30 20 M16 25 14 22 70
NH32F  74.4 84 130 90 M8 16 6 56 112 100 44 25 M16 25 14 22 96

MGS20 R1506 10020 34.4 40 75 4z M5,M6 10 6 32 62 56 20 10 M10 15 84 14 51 NH40A 584 80 114 72 M8 16 6 46 92 86 40 25 M18 27 15.5 25 74
MGS25 R1506 20020 40.4 40 65 50 M4,M5M6 10 6 34 65 63 20 10 M10 15 84 14 54 NH40B  62.4 82 120 82 M10 20 6 53 106 90 36 30 M18 27 t2}3) 25 88
MGS32-1 R1506 30020 48.4 50 95 60 M4M5M6 10 6 38 75 72 26 12 M12 15 105 175 61 NH40C 674 80 124 83 M8 16 6 52 104 94 35 30 M18 27 543 25 86
MGS32-2  R1506 40020 664 60 105 68 M6 12 6 42 82 8 30 15 M6 20 13 20 64 NH40F | 82.4 95 146 102 M10 20 6 64 128 116 50 30 M18 27 155 25 110
MGS40-1 R1506 40021 634 65 120 78 M8 14 6 53 ) ) ) I 5 5 T 111 5 O R 74 B 11855 NH50A  74.4 100 132 92 M10 20 6 59 118 100 48 35 M20 30 175 28 98
MGS40-2  R1506 50021 724 60 140 90 M10 18 6 58 113 108 46 17 M20 30 17 26 92 NH50B  80.4 90 140 96 M8 16 6 59 118 108 38 35 M20 30 175 28 98
MGS50 R150650020 684 65 130 82 M8 14 6 52 101 100 35 15 M18 30 15 23 825 NH50D | 94.4 100 160 113 M10 20 6 69 138 128 48 35 M20 30 175 28 118




HISAKA HISAKA

Your Automation Solutions Provider Your Automation Solutions Provider

H£0.1

0B 4
o d

L 12
e 23
12 12
- =
m“élé % = 3Z5 7 S| 7 s |- 1=y
. g3 g’i‘r a (BS - EREmwiE  wRmne N EERE ]
B= upport unit aft support aft support 2 a etric screw
NH16A 304 45 60 39 M4 8 4 22 44 44 22 1% M0 15 85 14 36 20,005
BK10 12/14/15 0 5 8 36 15 M10x1 16 5.5
NH16B 324 40 64 42 M4 8 4 20 40 48 16 15 M0 15 85 14 32 0.
NH16C 404 46 68 51 M5 10 4 22 50 52 18 20 MO 15 85 14 42 -0.005
BK12 14/15/16 12 5,012 10 36 15 M12x1 14 5.5
NH20A 354 56 70 46 M5 10 4 24 48 52 28 20 M0 15 85 14 40 -0.0
NH208 404 46 72 51 M5 10 4 27 54 56 18 20 MO 15 85 14 46 20,005
BK15 18/20 15 5 014 12 40 20 M15% 1 12 6
NH20C 444 50 76 5 M5 10 4 29 58 60 22 20 M0 15 85 14 50 -0.
NH20D 464 56 80 59 M5 10 4 30 60 64 28 20 M0 15 85 14 52 0,005
BK17 20/25 17 0014 15 53 23 M17x 1 17 7
NH25A 404 56 74 51 M5 10 4 25 50 56 28 20 MO 15 85 14 42 -0.
NH25B 434 50 78 5 M5 10 4 28 56 60 20 20 M0 15 85 14 46 -0.005
BK20 25/28 20750 17 53 25 M20% 1 15 8
NH25C 464 56 78 57 M5 10 4 28 56 60 26 20 M0 15 85 14 46 -0.014
NH25D 504 50 84 61 M5 10 4 31 62 68 20 20 M0 15 85 14 52 20,005
BK25 32/36 25 20 65 30 M25x1.5 18 9
NH25E 584 70 96 71 Me 12 4 35 70 76 40 20 M0 15 85 14 60 -0.014
NH25F 604 75 116 78 M8 16 4 37 74 84 48 20 M0 15 85 14 64 20,005
BK30 36/40 30 5014 25 72 38 M30% 1.5 25 9
NH32D 584 68 112 735 M8 16 4 39 78 84 30 24 M6 25 14 22 62 0.
NH32E 684 70 124 845 M8 16 4 42 84 96 30 25 M6 25 14 22 70 20,005
BK35 45 35 0014 30 81 45 M35% 1.5 28 12
NH4OD 734 76 138 93 M0 20 4 45 90 110 32 30 M8 27 155 25 72 -0.
NH4OE 764 80 138 96  MI0 20 4 50 100 110 35 30 M8 27 155 25 82 -0.005
BK40 50 40 5014 35 93 50 M40x 1.5 35 15
NH50C 904 80 160 112  M12 22 4 55 110 128 38 3 M20 30 175 28 90 -0.




HISAKA HISAKA

Your Automation Solutions Provider Your Automation Solutions Provider

> FKIEK/IAK > FF,EF,BF,AF &
I ot

9

It S
1 i
@ @
< == M { , i ; ,
[l @
— i
-G g

=
Support unit model No.

A
I |

FK FK EK/AK
F

F FF

RIRBAITHIIME | HRERERIMZ
Shaft support Shaft support

EF/BF/AF

RERZATHIIME | HREREBIMZ INFRIBLY EFKE
Shaft support Shaft support VS Metric screw
portion 0D portion 0D thread

L 12
e 7
12 12
153 53]
% %
5 5
23 EE

S

Metric screw thread :
Support unit model No.

portion 0D portion 0D
FK 2 Type Fk | EKZ Type EK |AKZ2TypeA 0| D0 | B | E F | M | S| C T [ [ ) ) STV
0,005
8 5 00 4 x5 8 MEx05 7 35
0.005 4
6 000 4 28 8  Mex075 8 5 10 6 0009 9 57 68 08
-0.005 -0.005
g J0° 6 xm  g M8x1 10 55 12/14/15 g o0 10 76 7.9 0.9
0.005 14/15/16 10 200 1 96 9.15 115
12/14/15 0 5 Mokt 55 0012 : : :
0,005
_ 18/20 15 13 143 1015 1.15
14/15/16 12 oo 10 3% 15 Mix] 1 55 0,012
- 20/25 17 505 16 16.2 1335 1.15
18/20 5305 2w W wsx1 13 10 :
25/28/30 20 00> 19(8) 19 1535(1335) 135
20/25 17 o0 15 58 23 MIXI 15 10 00
: 30/32/36 2% oo 20 2.9 1635 135
0,005 '
25/28/30 2 7 62 25 MOx1 17 11 :
0.012 36/40 30 oo 21 286 1775 175
0,005
30/32/36 % 0% 0 76 0 MBXIS 2 15 s 55 000 " . -
0,005 :
36/40 000 x5 o w Mxis % 9 50 40 oo 23 38 1995 195




